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A n t w o r t e n

1. B

2. D

3. A

4. C

5. D

6. A

7. B

8. D

9. B

10. B

Bestimme, welche Auswahl die Frage korrekt beantwortet.

1) Which choice has a digit in the einern place
that is exactly twice the value of the digit in the
zehnern place?

A. 46.538

B. 18.524

C. 43.125

D. 78.619

2) Which choice has a digit in the zehnern place
that is exactly twice the value of the digit in
the billions place?

A. 415.823

B. 175.834

C. 186.275

D. 429.361

3) Which choice has a digit in the tausenden place
that is exactly twice the value of the digit in the
einern place?

A. 867.954

B. 169.257

C. 852.341

D. 281.543

4) Which choice has a digit in the millions
place that is exactly three times the value of
the digit in the einern place?

A. 97.286

B. 84.956

C. 31.621

D. 94.768

5) Which choice has a digit in the tausenden place
that is exactly three times the value of the digit
in the hunderten place?

A. 623.584

B. 629.485

C. 498.721

D. 672.356

6) Which choice has a digit in the einern place
that is exactly three times the value of the
digit in the billions place?

A. 13.379

B. 34.965

C. 28.496

D. 98.516

7) Which choice has a digit in the millions place
that is exactly four times the value of the digit
in the ten millions place?

A. 5.321.679

B. 1.548.194

C. 6.572.834

D. 7.123.489

8) Which choice has a digit in the zehnern place
that is exactly four times the value of the
digit in the einern place?

A. 12.635

B. 68.592

C. 15.924

D. 63.182

9) Which choice has a digit in the zehnern place
that is exactly five times the value of the digit
in the billions place?

A. 382

B. 157

C. 624

D. 416

10) Which choice has a digit in the zehnern place
that is exactly six times the value of the digit
in the einern place?

A. 816.539

B. 216.961

C. 372.649

D. 426.385
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